B -Core Theorems in Ultrametric Fields

S. Sangeetha

Department of Mathematics SRM University, Kattankulathur, Chennai-603 203, India. sangeethamani79@yahoo. co. in

V. Srinivasan

Department of Mathematics, SRM University, Kattankulathur, Chennai-603 203, India. drvsrinivas. 5@gmail. com

Abstract

In this paper, K denotes a complete, non-trivially valued, nonarchimedean field. The entries of sequences, series and infinite matrices are in K. Here, we have defined \mathfrak{B} – core or Banach core and proved a few theorems on the \mathfrak{B} – corein such fields.

Keywords: Core of a sequence, \mathfrak{B} – *core*, Regular matrix, fregular matrix, Normal matrix.

AMS subject classifications: 40A05, 40C05, 46S10.

Introduction

Let K be a complete, non-trivially valued, non-archimedean

$$Ax = (Ax)_n = \sum_{k=0}^{\infty} a_{nk} x_k$$
, $n = 0,1,2,...,$

it being assumed that the series on the right converge and $(Ax)_n$ is called the A-transform of $x = \{x_k\}$. The infinite matrix $A = (a_{nk})$, n, k = 0,1,2,... is said to be regular if $(Ax)_n$ converges whenever $x = \{x_k\}$ converges and have the same limit.

Let $x = \{x_k\}, x_k \in K, k = 0,1,2...$, we denote by $C_n(x)$, n = 0.1.2... the smallest closed convex set containing x_n, x_{n+1}, \dots and call

$$\mathcal{K}(x) = \bigcap_{n=0}^{\infty} C_n(x)$$

the core of X.

For the infinite matrix $B = (b_{nk})$, n, k = 0,1,2,... similarly

$$Bx = (Bx)_n = \sum_{k=0}^{\infty} b_{nk} x_k$$
, $n = 0,1,2,...$

Matrix $B = (b_{nk})$, n, k = 0,1,2,... is called normal if it is a lower semi-triangular matrix with non-zero diagonal entries. Whenever B is normal, B has a reciprocal. Denote its

reciprocal by
$$B^{-1} = (b_{nk}^{-1}).$$

Definition 1.1.

Let K be a complete, non-trivially valued, non-archimedean field. For every bounded sequence $x = \{x_k\}$, we define the \mathfrak{B} – *core* or Banach core as

$$\mathfrak{B}(x) = \bigcap_{u \in K} B_x(u),$$

where
$$B_x(u) = \left\{ w \in K : |w - u| \le \lim_{p \to \infty} \sup_{n \le k \le n + p} |x_k - u| \right\}.$$

Theorem 1.1.

An infinite matrix $A = (a_{nk})$ n, k = 0,1,2,... is such that $\mathcal{K}(Ax) \subset \mathfrak{B}(x)$ if and only if A is regular and satisfies $\lim_{n\to\infty} \sup_{k\geq 0} |a_{nk}| = 1.$

Proof: Necessary part:

Assume A is regular and $\lim_{n\to\infty} \sup_{k\geq 0} |a_{nk}| = 1$. (1) To prove $\mathcal{K}(Ax) \subset \mathfrak{B}(x)$

Let $y \in \mathcal{K}(Ax)$. By definition, we have that

$$\begin{split} |y-u| & \leq \limsup_{n \to \infty} \sup_{n} \left| \sum_{k=0}^{\infty} a_{nk} x_{k} - u \right| \\ & \leq \limsup_{n \to \infty} \sup_{n} \left| \sum_{k=0}^{\infty} a_{nk} (x_{k} - u) \right| \; (since \ A \ is \ regular) \\ & \leq \limsup_{n \to \infty} \sup_{n} \sup_{k \geq 0} |a_{nk}| \, |x_{k} - u| \\ & \leq \sup_{n} |x_{k} - u| \quad using \; (1) \\ & \leq \lim_{p \to \infty} \sup_{n \leq k \leq n+p} |x_{k} - u| \\ |y - u| & \leq \lim_{p \to \infty} \sup_{n \leq k \leq n+p} |x_{k} - u| \\ & \Rightarrow y \in \mathfrak{B}(x). \end{split}$$
Therefore, $\mathcal{K}(Ax) \subset \mathfrak{B}(x)$.

Sufficient Part:

Assume $\mathcal{K}(Ax) \subset \mathfrak{B}(x)$.

To prove that (1) holds.

But by definition, $\mathfrak{B}(x) \subset \mathcal{K}(x)$.

Therefore,
$$\mathcal{K}(Ax) \subset \mathcal{K}(x)$$
 (2)

In view of (2), we have A is regular and that $\lim_{n\to\infty} \sup_{k\geq 0} |a_{nk}| = 1.$

This completes the proof of the theorem.

Definition 1.2.

The infinite matrix $A = (a_{nk})$, n, k = 0,1,2,... is said to be f-regular if A is conservative and $\lim Ax = f(\lim x)$.

(ie)
$$\lim_{n\to\infty}\sum_{k=0}^{\infty}a_{nk}x_k=f(l)$$
 where $\lim_{k\to\infty}x_k=l$.

Theorem 1.2.

An infinite matrix $A = (a_{nk})$ n, k = 0,1,2,... is such that $\mathfrak{B}(Ax) \subset \mathfrak{B}(x)$ if and only if A is f-regular and satisfies $\lim_{n\to\infty} \sup_{k\geq 0} |a_{nk}| = 1.$

Proof: Necessary part:

Let $x = \{x_k\}$ be a bounded sequence. Let u be a limit point of x. ie., $\lim_{k \to \infty} x_k = u$.

If y is any point in $\mathfrak{B}(Ax)$, then by the definition,

$$|y-f(u)| \le \lim_{p\to\infty} \sup_{n\le k\le n+p} \left| \sum_{k=0}^{\infty} a_{nk} x_k - f(u) \right|$$

Let us assume A is f-regular and satisfies

$$\lim_{n \to \infty} \sup_{k \ge 0} |a_{nk}| = 1. \tag{3}$$

To prove $\mathfrak{B}(Ax) \subset \mathfrak{B}(x)$.

Let $y \in \mathfrak{B}(Ax)$, Also A is f-regular implies $\lim Ax = f(\lim$ \mathbf{x}) = $f(\mathbf{u})$

ie.,
$$\lim_{n\to\infty}\sum_{k=0}^{\infty}a_{nk}x_k=f(u)$$

$$|y - f(u)| \leq \lim_{p \to \infty} \sup_{n \leq k \leq n+p} \left| \sum_{k=0}^{\infty} a_{nk} x_k - f(u) \right|$$

$$\leq \lim_{p \to \infty} \sup_{n \leq k \leq n+p} \left| \sum_{k=0}^{\infty} a_{nk} x_k - \sum_{k=0}^{\infty} a_{nk} u \right|$$

$$(since \lim_{n \to \infty} \sum_{k=0}^{\infty} a_{nk} u = f(u))$$

$$\leq \lim_{p \to \infty} \sup_{n \leq k \leq n+p} \left| \sum_{k=0}^{\infty} a_{nk} (x_k - u) \right|$$

$$\leq \lim_{p \to \infty} \sup_{n \leq k \leq n+p} \sup_{k \geq 0} a_{nk} ||x_k - u||$$

$$\leq \lim_{p \to \infty} \sup_{n \leq k \leq n+p} ||x_k - u|| \quad using (3)$$

$$|y - f(u)| \le \lim_{p \to \infty} \sup_{n \le k \le n + p} |x_k - u| \tag{4}$$

Now consider that,

$$|y - u| = |y - f(u) + f(u) - u|$$

$$\leq \max\{|y - f(u)|, |f(z) - u|\}$$

$$= |y - f(u)| \quad (since f(u) \to u \text{ as } n \to \infty)$$

$$|y-u| \le \lim_{p\to\infty} \sup_{n\le k\le n+p} |x_k-u| \quad from (4)$$

 $\Rightarrow y \in \mathfrak{B}(x)$
 $\Rightarrow \mathfrak{B}(Ax) \subset \mathfrak{B}(x).$

Sufficient Part:

Assume $\mathfrak{B}(Ax) \subset \mathfrak{B}(x)$.

To prove that (3) holds.

Let $x = \{x_k\}$ be a bounded sequence that converges to a limit

$$\lim_{k \to \infty} x_k = u \text{ or } \lim_{k \to \infty} (x_k - u) = 0$$

 $\lim_{k\to\infty} x_k = u \text{ or } \lim_{k\to\infty} (x_k - u) = 0.$ Since $\mathfrak{B}(Ax) \subset \mathfrak{B}(x)$, A-transform of $\{x_k\}$ also converges

$$\Rightarrow \lim_{n \to \infty} \sum_{k=0}^{\infty} a_{nk} (x_k - u) = \sum_{k=0}^{\infty} \lim_{k \to \infty} a_{nk} (x_k - u) = 0$$

$$\Rightarrow \lim_{n \to \infty} \sum_{k=0}^{\infty} a_{nk} x_k = \lim_{n \to \infty} \sum_{k=0}^{\infty} a_{nk} u$$

$$\Rightarrow$$
 $\lim Ax = f(\lim x) = f(u)$

$$\Rightarrow$$
 A is f - regular.

To prove $\lim_{n\to\infty} \sup_{k\geq 0} |a_{nk}| = 1$.

Since A is f-regular, $\lim Ax = f(\lim x)$.

ie.,
$$\lim_{n \to \infty} \sum_{k=0}^{\infty} a_{nk} x_k = \lim_{n \to \infty} \sum_{k=0}^{\infty} a_{nk} u$$

$$\lim_{n\to\infty} \left| \sum_{k=0}^{\infty} a_{nk}(x_k - u) \right| = 0$$

$$\begin{split} & \sum_{k=0}^{\mathrm{But},} a_{nk}(x_k - u) \bigg| \\ & \leq \max\{|a_{n0}(x_0 - u)|, |a_{n1}(x_1 - u)|, \dots |a_{nk}(x_k - u)|, \dots\} \\ & \lim_{n \to \infty} \sup_{k \geq 0} |a_{nk}| = 1 \quad (\text{ as } x_k \to l \text{ as } k \to \infty). \end{split}$$

This completes the proof of the theorem.

Before giving the main results we state the following Lemma [9].

Lemma 1.1.

Let
$$A = (a_{n,j})$$
 and $B = (b_{jk})$ be infinite matrices, where $a_{n,j}, b_{jk} \in K$, $n, j, k = 0,1,2,...$

For any bounded sequence $x = \{x_k\}$ there exists Axwhenever Bx is bounded if and only if the following conditions are satisfied for a fixed n.

(1)
$$c_{nk} = \sum_{j=k}^{\infty} a_{nj} b_{jk}^{-1}, \qquad k = 0,1,2,...,$$

(2) $\sup_{n,k} |c_{nk}| < \infty,$

International Journal of Applied Engineering Research ISSN 0973-4562 Volume 10, Number 17 (2015) pp 38078-38080 © Research India Publications. http://www.ripublication.com

(3)
$$\lim_{J \to \infty} \sup_{0 \le k \le J} \left| \sum_{j=J+1}^{\infty} a_{nj} b_{jk}^{-1} \right| = 0.$$

Theorem 1.3.

Let B be a normal matrix and A be any matrix. For any bounded sequence $x = \{x_k\}$ there exists Ax whenever Bx is bounded and that $\mathcal{K}(Ax) \subset \mathfrak{B}(Bx)$ it is necessary and sufficient that the following conditions are satisfied.

- (i) $C = AB^{-1}$ exists,
- (ii) C is regular,

(iii) for a fixed
$$n$$
, $\lim_{J\to\infty} \sup_{0\le k\le J} \left| \sum_{j=J+1}^{\infty} a_{nj} b_{jk}^{-1} \right| = 0$,

$$(iv) \lim_{n \to \infty} \sup_{k \ge 0} |c_{nk}| = 1.$$

Proof: Necessary Part:

Assume $\mathcal{K}(Ax) \subset \mathfrak{B}(Bx)$.

For any bounded sequence $x = \{x_k\}$, Bx is bounded and we write y = Bx.

By lemma 1.1, conditions (i) and (iii) hold.

Since $\mathcal{K}(Ax) \subset \mathfrak{B}(Bx)$, we have

$$\mathcal{K}(AB^{-1}y) \subset \mathfrak{B}(Bx)$$

 $\Rightarrow \mathcal{K}(Cy) \subset \mathfrak{B}(y), \quad using (i)$

Hence the conditions (ii) and (iv) hold, in view of Theorem 1.

Sufficient Part:

Assume that the conditions (i) to (iv) hold.

Since C is regular and
$$\lim_{n\to\infty} \sup_{k\geq 0} |c_{nk}| = 1$$
,

We have,

$$\mathcal{K}(Cy) \subset \mathfrak{B}(y)$$
, by theorem 1
 $\Rightarrow \mathcal{K}(AB^{-1}y) \subset \mathfrak{B}(Bx)$, from (i)
 $\Rightarrow \mathcal{K}(Ax) \subset \mathfrak{B}(Bx)$.

This completes the proof of the theorem.

Theorem 1.4.

Let B be a normal matrix and A be any matrix. For any bounded sequence $x = \{x_k\}$ there exists Ax whenever Bx is bounded and that $\mathfrak{B}(Ax) \subset \mathfrak{B}(Bx)$ it is necessary and sufficient that the following conditions are satisfied.

(i)
$$C = AB^{-1}$$
 exists,

(iii) for a fixed
$$n$$
, $\lim_{J \to \infty} \sup_{0 \le k \le J} \left| \sum_{j=J+1}^{\infty} a_{nj} b_{jk}^{-1} \right|$

$$(iv) \lim_{n \to \infty} \sup_{k \ge 0} |c_{nk}| = 1.$$

Proof: Necessary Part:

Assume $\mathfrak{B}(Ax) \subset \mathfrak{B}(Bx)$.

For any bounded sequence $x = \{x_k\}$, Bx is bounded and we write y = Bx.

By lemma 1. 1, conditions (i) and (iii) hold.

Since $\mathfrak{B}(Ax) \subset \mathfrak{B}(Bx)$, we have

$$\mathfrak{B}(AB^{-1}v) \subset \mathfrak{B}(Bx)$$

$$\Rightarrow \mathfrak{B}(Cy) \subset \mathfrak{B}(y)$$
, using (i)

Hence the conditions (ii) and (iv) hold, in view of Theorem 1. 2.

Sufficient Part:

Assume that the conditions (i) to (iv) hold.

Since C is f-regular and $\lim_{n\to\infty} \sup_{k\geq 0} |c_{nk}| = 1$,

We have,

$$\mathfrak{B}(Cy) \subset \mathfrak{B}(y)$$
, by Theorem 1.2
 $\Rightarrow \mathfrak{B}(AB^{-1}y) \subset \mathfrak{B}(Bx)$, from (i)
 $\Rightarrow \mathfrak{B}(Ax) \subset \mathfrak{B}(Bx)$.

This completes the proof of the theorem.

References

- [1] R. Ameziane Hassani and A. El Amrani, Matrix transformation on BS-spaces in p-adic analysis, Int. J. of Math. Analysis, 5(2) (2011), 49-64.
- [2] R. G. Cooke, Infinite Matrices and Sequences Spaces, McMillan, 1950.
- [3] G. Das, Sublinear functionals and a class of conservative matrices, Bulletin of the Institute of Mathematics Academia Sinica, 15 (1) (1987), 89-105.
- [4] G. H. Hardy, Divergent Series, Oxford, 1949.
- [5] M. Mursaleen and Osama H. H. Edely, Statistically strongly regular matrices and some core theorems, Int. J. Math. Math. Sci., 18 (2003), 1145-1153.
- [6] P. N. Natarajan, On the core of a sequence over valued fields, Indian J. Math. Soc., 55 (1990), 189-198.
- [7] C. Orhan, Sublinear functionals and Knopp's core theorem, Int. J. Math. and Math. Sci., 3 (1990), 461-468.
- [8] C. Orhan and S. Yardimci, Ankara, Banach and Statistical cores of bounded sequences, Czechoslovak Mathematical Journal, 54 (129) (2004), 65-72.
- [9] S. Sangeetha and V. Srinivasan, An Extension of Knopp's core Theorem in Ultrametric Fields, Int. J. of Math. Sci. and Engg. Appls. (IJMSEA) 9 (1) (2015), 233-240.
- [10] S. Yardimci, Core theorems for real bounded sequences, Indian J. Pure and Appl. Math., 27 (9) (1996), 861-867.